Name:

Horizontal Division of Multiples of 10 with Remainders

Example :
1. 40 + 3 =
2. 60 +7=
3. 80 +9-=
4, 50+ 3=
5. 30+ 4=
6. 90 + 8 =
7. 70 +6 =
8 30=+8=
9. 40 +9 =
10. 20 +7 =
11. 10 + 6 =
12. 60 + 9 =
13. 70 + 3 =
14, 90 + 4 =
15. 30+7 =
16. 50 + 6 =
17. 80 + 3 =
18. 20 + 8 =
19. 50 + 6=
20. 60 + 8 =
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470 + 13 =
730 = 16 =
570 = 14 =
930 + 17 =
870 + 14 =
620 + 26 =
910 + 19 =
750 = 18 =
530 + 28 =
990 + 38 =
670 + 36=
750 = 27 =
520 = 29 =
640 + 39 =
730 + 48 =
580 + 23 =
920 + 33 =
470 + 37 =
710 =+ 56 =

730 + 69 =




Name:
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5010 + 40 =
6730 + 30 =
8030 + 60 =
5240 - 70 =
6470 + 80 =
9350 + 40 =
7250 + 90 =
8650 + 30 =
5870 + 40 =
7160 = 30 =
9530 =+ 60 =
6170 = 70 =
7250 = 80 =
4780 + 30 =
5190 + 40 =
8240 + 60 =
2510 = 70 =
7530 = 80 =
9150 = 90 =
5390 = 30 =
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51340 + 600 =
68050 + 700 =
76590 + 700 =
82720 + 900 =
94230 + 400 =
51330 + 800 =
73610 + 400 =
89570 + 900 =
67480 + 300 =
74690 + 300 =
02230 + 313 =
58370 + 424 =
65790 + 134 =
82450 + 246 =
94390 + 254 =
57230 + 316 =
74860 + 831 =
86570 + 229 =
94670 + 213 =
56930 + 207 =




